MULTIPLICITY RESULTS FOR A KIRCHHOFF SINGULAR PROBLEM INVOLVING THE FRACTIONAL P-LAPLACIAN

Mounir Hsini^{1,†}

Abstract The aim of this paper is to study the multiplicity of solutions for a Kirchhoff singular problem involving the fractional p-Laplacian operator. Using the concentration compactness principle and Ekeland's variational principle, we obtain two positive weak solutions.

Keywords Fractional p-Laplacian operator, multiple positive solutions, Fibering maps, Nehari manifold.

MSC(2010) 34B15, 37C25, 35R20.

1. Introduction

In this project, we are motivated to study the existence of multiple weak solutions for the following Kirchhoff problem containing singular term

$$(P_{\lambda}) \begin{cases} M\left(\int_{\Omega^2} \frac{|u(x)-u(y)|^p}{|x-y|^{n+ps}} dx dy\right) (-\Delta_p)^s u(x) = \lambda u^q + u^{-\alpha} \text{ in } \Omega, \\ u = 0 \qquad \text{ in } \partial\Omega, \end{cases}$$

where $\Omega \subset \mathbb{R}^n$, $n \geq 2$ is a bounded smooth domain, $1 , <math>s \in (0, 1)$ and $0 < \alpha < 1$ while M is a continuous function and the fractional p-Laplacian operator $(\Delta)_p^s$ is given by

$$(-\Delta_p)^s u(x) = 2 \lim_{\varepsilon \to 0} \int_{\mathbb{R}^n \setminus B_\varepsilon(x)} \frac{|u(x) - u(y)|^{p-2} (u(x) - u(y))}{|x - y|^{n+sp}} dy, \text{ for } x \in \mathbb{R}^n.$$

Before giving our results, let us briefly recall literature concerning related problem (P_{λ}) .

Equations and variational problems involving the fractional and non local operators have captured a special attention in the recent last years. Indeed, there are some physical phenomena which can be modeled by such kind of equations. In this context, many results have been obtained on this kind of problems, specially in finance, thin obstacle problem, optimization, quasi-geostrophic flow, geomorphological, electrorheological fluids [2,9,15,18,19,28,34].

Problems of Type (P_{λ}) are called a nonlocal problems due to the term M, which implies that these equations are no longer a pointwise equation. This causes

 $^{^{\}dagger} the \ corresponding \ author.mounir.hsini@ipeit.rnu.tn$

¹Department of Mathematics, Elmanar University, Faculty of Sciences, Campus

Universitaire 2092, Tunis, Tunisia

some mathematical difficulties which gives particularly interesting for the study of these problems. Note that these equations (nonlocal differential equations) are investigated in the following form

$$\rho \frac{\partial^2 u}{\partial t^2} - \left(\frac{P_0}{h} + \frac{E}{2L} \int_0^L |\frac{\partial u}{\partial x}|^2\right) \frac{\partial^2 u}{\partial x^2} = 0,$$

which extends the classical Alembert's wave equation.

Up to these days, a great deal of results have been obtained for solutions to equations related to the Kirchhoff problem. Precisely, in the past decade, many people have extensively studied the nonlinear boundary value problems involving this kind of equations. We will only state in this introduction those results that are related to the ones we address in this paper.

At 1978, Lions [22], proposed an abstract framework for the Kirchhoff type equations. Of course, we do not forget the contributions of Simon [29] and Berestycki and Brezis [6] which appeared in this period and they have studied the non local boundary conditions. Later Corrêa and all. studied the Kirchhoff problem.

Recently, the studies of Kirchhoff Dirichlet problems have been considered by variational methods, In this case we find the Kirchhoff equation involving p-Laplacian operator and operators in divergence form [3, 10, 23, 30].

Problem involving fractional power of the Laplace operator have been studied in a large number of works. Caffarelli and Silvestre [7] investigated the fractional Laplacian through extension theory. The existence, non existence and uniqueness of positive solution for the fractional laplacian was treated by Chen and all in [8]. Moreover they obtained a symmetry property of solutions for equations involving the fractional Laplacian.

Using the Nahari manifold, Ghanmi and Saoudi [17] studied the multiplicity of weak positive solutions for a semi linear problem involving the fractional Laplace operator.

The existence and multiplicity results of weak solutions for Singular elliptic problems have been studied by Crandall [12], [11], Liao [21] in the case of Laplace operator and Qin Li and all [20] in the case of the Kirchhoff p-laplacian operator. Precisely, by means of the concentration compactness principle and Ekeland's variational principle, Qin and all proved the existence of multiple solution for the following problem

$$\begin{cases} M\left(\|u\|^{p}\right)\Delta_{p}u(x) = \lambda u^{p^{*}} + \rho(x)u^{-\gamma} \text{ in } \Omega, \\ u = 0 \qquad \text{ in } \partial\Omega, \end{cases}$$

where $M(t) = a + bt^k$ and $0 < \gamma < 1 < p$.

In [16], Ghanmi studied the following problem

$$M\left(\int_{\Omega} A(x,\nabla u)dx\right) \operatorname{div}(a(x,\nabla u)) = \lambda h(x)\frac{\partial F}{\partial u}(x,u), \text{ in } \Omega, u = 0 \text{ in } \partial\Omega.$$

Using variational arguments and the theory of variable exponent Sobolev spaces, the author proved the existence of non trivial weak solutions for some $\lambda \leq \lambda_0$.

In [5], the authors dealt with the singular Kirchhoff problem involving the p(x)-Laplacian operator

$$M\left(\int_{\Omega} \frac{1}{p(x)} |\nabla u|^{p(x)} dx\right) \Delta_p u(x) = g(x)u^{-\gamma(x)} - \lambda f(x, u), \text{ in } \Omega, \quad u = 0, \quad \text{in } \partial\Omega,$$

where M(t) is a positive continuous function on $(0, \infty)$ which is $L^1(0, T)$ for some T > 0.

In [4], the authors were interested with the singular Dirichlet problem

$$(-\Delta)^{s}u = \lambda f(x)u^{-\gamma} + Mu^{p}, \ u > 0 \text{ in } \Omega, \ u = 0 \text{ in } \partial\Omega,$$

where $M \ge 0$, 0 < s < 1, $\gamma > 0$, $\lambda > 0$, $1 and <math>f \in L^m(\Omega)$, $m \ge 1$ is a non negative function. The authors studied the existence of the regularized problems with singular term $u^{-\gamma}$ replaced by the sequence $(u + \frac{1}{n})^{-\gamma}$. Note that the critical singular problem (case $p = 2_s^* - 1$) is studied in [26], where the multiplicity results are obtained using the Nehari manifold method.

There are many papers which are devoted to the study of p-fractional laplacian with polynomial type nonlinearities, where they study the subcritical problems using Nehari manifold and fibering maps, in this way, we cite [7,24,27] and the reference therein. In [25], Brezis-Nirenberg type critical exponent equation was investigated.

Inspired by the above results, we study the singular kirchhoff problem (P_{λ}) involving the p-fractional laplacian, which generalizes, improves and extends the above mentioned references under suitable other conditions. This gives and makes importance and significance to this project. Note that we need the concentration compactness principle and Ekeland's variational principle to obtain two positive weak solutions.

This paper is divided into four sections. In the next part, we introduce necessary notations, fundamental hypothesis and the spaces on which we work. We introduce also the main result. In the third section, we explore the Nehari manifold and Fibering maps. Note that we give some elementary results which will be useful to the proof of our principal Theorem, that is the object of section 4.

2. Preliminaries and Main results

In this section, we introduce some preliminary results which will be needed in the proof of the main result. For all $1 < r \leq \infty$, we denote $\|\cdot\|_r$ the norm of the space $L^r(\Omega)$. In addition, if $0 < s < 1 < p < \infty$ are real numbers, the fractional critical exponent is defined by

$$p_s^* = \frac{np}{n - sp}$$

Due to the non-localness of the operator fractional p-Laplacian, we introduce the functional space E by

$$E = \{ u : \mathbb{R}^n \to \mathbb{R}, \text{ is measurable}, \ u_{|\Omega} \in L^p(\Omega) \text{ and } \frac{u(x) - u(y)}{|x - y|^{\frac{n + sp}{p}}} \in L^p(X) \},$$

where $X = \mathbb{R}^{2n} \setminus (\mathbb{R}^n \setminus \Omega \times \mathbb{R}^n \setminus \Omega).$

The Gagliardo semi-norm for any measurable function $u: \mathbb{R}^n \to \mathbb{R}$ is given by

$$[u]_{s,p} = \left(\int_{\mathbb{R}^{2n}} \frac{|u(x) - u(y)|^p}{|x - y|^{n + sp}} dx dy\right)^{\frac{1}{p}}$$

and the fractional Sobolev space $W^{s,p}(\mathbb{R}^n)$ is defined by

$$W^{s,p}(\mathbb{R}^n) = \Big\{ u \in L^p(\mathbb{R}^n) \text{ measurable and } [u]_{s,p} < \infty \Big\}.$$

The space $W^{s,p}(\mathbb{R}^n)$ is endowed with the norm

$$||u||_{s,p} := \left(||u||_p + [u]_{s,p}^p \right)^{\frac{1}{p}}.$$

Our basic space on which we shall work is

$$E = \left\{ u \in W^{s,p}(\mathbb{R}^n), \, u(x) = 0 \text{ a.e. in } \mathbb{R}^n \setminus \Omega \right\}$$

It's well known that E can be equivalently renormed by setting $\|\cdot\| = [\cdot]_{s,p}$. Moreover, $(E, \|\cdot\|)$ is a Banach space which is uniformly convex and the embedding $E \hookrightarrow L^q(\Omega)$ is continuous for all $1 \le q \le p_s^*$ and compact in the case $1 \le q < p_s^*$. The dual space of $(E, \|\cdot\|)$ is denoted by $(E^*, \|\cdot\|_*)$ and $\langle \cdot, \cdot \rangle$ represents the duality product between E and E^* . Finally, for $1 \le q \le p_s^*$ we denote by S the best Sobolev constant for the operator $E \hookrightarrow L^q(\Omega)$, that is

$$S\|u\|_{q}^{p} \le \|u\|^{p}. \tag{2.1}$$

Definition 2.1. A function $u \in E$ is termed a positive weak solution of (P_{λ}) if u > 0 and

$$M(\|u\|^{p}) \int_{\mathbb{R}^{2n}} \frac{|u(x) - u(y)|^{p-2}((u(x) - u(y))(v(x) - v(y)))}{|x - y|^{n+sp}} dxdy$$
$$= \int_{\Omega} (u(x)^{-\alpha} + \lambda u(x)^{q})v(x)dx.$$
(2.2)

We will associate to the problem (P_{λ}) the functional $J_{\lambda} : E \to \mathbb{R}$ defined as follow

$$J_{\lambda}(u) = \frac{1}{p}\widehat{M}\Big(\|u\|^p\Big) - \frac{1}{1-\alpha}\int_{\Omega}|u(x)|^{1-\alpha}dx - \frac{\lambda}{1+q}\int_{\Omega}|u(x)|^{q+1}\mathrm{d}x,\qquad(2.3)$$

where

$$\widehat{M}(t) = \int_0^t M(s) ds.$$

Throughout, this paper we suppose that $M: (0, +\infty) \to (0, +\infty)$ is a continuous function defined by

$$M(s) = as^{m}, \ a > 0, \tag{2.4}$$

where q + 1 > p(m + 1). Under the assumption (2.4) needed on the function M, our fundamental result can be described as follow.

Theorem 2.1. Assume that (2.1), (2.4) and $0 < \alpha < 1 < p < p(m+1) < q+1 < p^* - 1$ are fulfilled. Then, problem (P_{λ}) has at least two positive solutions for all $\lambda \in (0, T_{q,\alpha})$, where

$$T_{q,\alpha} = ABa^{\frac{\alpha+q}{p(m+1)+\alpha-1}} S^{(1-\alpha)\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}},$$
$$A = \left(\frac{p(m+1)+\alpha-1}{q+1-p(m+1)}\right) \quad \text{and} \quad B = \left(\frac{q+1-p(m+1)}{(q+\alpha)}\right)^{\frac{\alpha+q}{p(m+1)+\alpha-1}}$$

3. Nehari manifold and fibering maps

It's well known that the singular term leads to the fact that functional $J_{\lambda} \notin C^1(\mathcal{W}^{1,p}(\Omega),\mathbb{R})$. Nevertheless, we get the multiplicity of solutions for the problem (P_{λ}) by investigating suitable minimization problems for the functional J_{λ} .

Notice that any solution u of the problem (P_{λ}) must be positive and satisfies the equation

$$M(||u||^{p})||u||^{p} - \int_{\Omega} |u(x)|^{1-\alpha} dx - \lambda \int_{\Omega} |u(x)|^{q+1} dx = 0.$$
(3.1)

Therefore, any weak solution must be in the Nehari manifold defined as follow

$$\mathcal{N}_{\lambda} = \Big\{ u \in E, \ M\Big(\|u\|^p \Big) \|u\|^p - \int_{\Omega} |u(x)|^{1-\alpha} \, \mathrm{d}x - \lambda \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x = 0 \Big\}.$$

To obtain the multiplicity of solutions, we decompose \mathcal{N}_{λ} into three parts corresponding to local minima, local maxima and points of inflection, are measurable sets defined as follows:

$$\mathcal{N}_{\lambda} = \mathcal{N}_{\lambda}^{0} \cup \mathcal{N}_{\lambda}^{+} \cup \mathcal{N}_{\lambda}^{-},$$

where

$$\mathcal{N}_{\lambda}^{0} = \Big\{ u \in \mathcal{N}_{\lambda}, \ a(p(m+1) + \alpha - 1) \|u\|^{p(m+1)} - \lambda(q + \alpha) \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x = 0 \Big\},$$
$$\mathcal{N}_{\lambda}^{+} = \Big\{ u \in \mathcal{N}_{\lambda}, \ a(p(m+1) + \alpha - 1) \|u\|^{p(m+1)} - \lambda(q + \alpha) \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x > 0 \Big\},$$

and

$$\mathcal{N}_{\lambda}^{-} = \Big\{ u \in \mathcal{N}_{\lambda}, \ a(p(m+1) + \alpha - 1) \|u\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x < 0 \Big\}.$$

Finally, we prove that a minimizer of J_{λ} on \mathcal{N}_{λ}^+ (and in \mathcal{N}_{λ}^- respectively) is a positive solution of (2.2).

Our first preliminary result deals with the coercivity of the functional J_{λ} .

Lemma 3.1. J_{λ} is coercive and bounded below on \mathcal{N}_{λ} .

Proof. The proof is immediately deduced from (2.1) and the definition of the set \mathcal{N}_{λ} .

Lemma 3.2. Under the assumptions (2.1), (2.4) and $(0 < \alpha < 1 < p < p(m+1) < q+1 < p^*-1)$. Then, for all $\lambda \in (0, T_{q,\alpha})$, there exist t_0^+ and t_0^- such that $t_0^+u \in \mathcal{N}_{\lambda}^+$ and $t_0^-u \in \mathcal{N}_{\lambda}^-$.

Proof. Let us introduce the function

$$\Phi(t) = a ||u||^{p(m+1)} t^{p(m+1)-q-1} - t^{-\alpha-q} \int_{\Omega} |u(x)|^{1-\alpha} \, \mathrm{d}x.$$

It's an easy task to see that $\Phi'(t) = 0$ if and only if

$$t = t_{max} = \left(\frac{(\alpha + q)\int_{\Omega}|u(x)|^{1-\alpha}\,\mathrm{d}x}{a(q+1 - p(m+1))\|u\|^{p(m+1)}}\right)^{\frac{1}{\alpha + p(m+1)-1}}.$$

A Straightforward calculation gives as :

$$\Phi(t_{max}) = A.B.a^{\frac{\alpha+q}{p(m+1)+\alpha-1}} \|u\|^{\frac{p(m+1)(\alpha+q)}{p(m+1)+\alpha-1}} \left(\int_{\Omega} |u(x)|^{1-\alpha} \,\mathrm{d}x\right)^{\frac{p(m+1)-q-1}{p(m+1)+\alpha-1}}, \quad (3.2)$$

where

$$A = \left(\frac{p(m+1) + \alpha - 1}{q + 1 - p(m+1)}\right) \text{ and } B = \left(\frac{(q+1-p(m+1))}{(q+\alpha)}\right)^{\frac{\alpha+q}{p(m+1)+\alpha-1}}.$$
 (3.3)

In view of assumption (2.1) we obtain :

$$\Phi(t_{max}) - \lambda \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x > ABS^{(1-\alpha)\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}} \frac{\|u\|^{\frac{p(m+1)(\alpha+q)}{p(m+1)+\alpha-1}}}{\|u\|^{(1-\alpha)\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}}} - \lambda \|u\|^{1+q}.$$

That is

$$\Phi(t_{max}) - \lambda \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x > ABS^{(1-\alpha)\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}} \|u\|^{1+q} - \lambda \|u\|^{1+q}$$

and then

$$\Phi(t_{max}) - \lambda \int_{\Omega} |u(x)|^{1+q} dx > (T_{q,\alpha} - \lambda) \|u\|^{1+q} > 0, \text{ for all } \lambda \in (0, T_{q,\alpha}).$$
(3.4)

Hence, there exist $0 < t_0^+ < t_{max} < t_0^-$ satisfying

$$\Phi(t_0^+) = \lambda \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x = \Phi(t_0^-)$$

and

$$\Phi'(t_0^+) \ < 0 \ < \ \Phi'(t_0^-).$$

Therefore, $t_0^+ u \in \mathcal{N}_{\lambda}^+$ and $t_0^- u \in \mathcal{N}_{\lambda}^-$, as required.

Lemma 3.3. Suppose that $\lambda \in (0, T_{q,\alpha})$, then the sets $\mathcal{N}^{\pm}_{\lambda}$ are non empty and $\mathcal{N}^{0}_{\lambda} = \{0\}$. In addition, $\mathcal{N}^{-}_{\lambda}$ is a closed set in E-topology.

Proof. Due to the Lemma 3.2, we obtain $\mathcal{N}_{\lambda}^{\pm} \neq \emptyset$, for any $\lambda \in (0, T_{q,\alpha})$. Let us argue by contradiction that $\mathcal{N}_{\lambda}^{0} = \{0\}$ and suppose that there exits $v \neq 0$ in the set $\mathcal{N}_{\lambda}^{0}$. Then,

$$a(p(m+1) + \alpha - 1) \|v\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |v(x)|^{1+q} \, \mathrm{d}x = 0$$

and

$$a \|v\|^{p(m+1)} - \int_{\Omega} |v(x)|^{1-\alpha} \, \mathrm{d}x - \lambda \int_{\Omega} |v(x)|^{1+q} \, \mathrm{d}x = 0.$$

Consequently, we obtain

$$\int_{\Omega} |v(x)|^{1-\alpha} dx = \frac{a(q+1-p(m+1))}{\alpha+q} ||v||^{p(m+1)}.$$
(3.5)

Combining equations (3.2) and (3.5), we get

$$0 < \Phi(t_{max}) - \lambda \int_{\Omega} |v(x)|^{1+q} dx$$

= $A.Ba^{\frac{\alpha+q}{p(m+1)+\alpha-1}} \frac{\|v\|^{\frac{p(m+1)(\alpha+q)}{p(m+1)+\alpha-1}}}{(\int_{\Omega} |v(x)|^{1-\alpha} dx)^{\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}}} - \lambda \int_{\Omega} |v(x)|^{1+q} dx$
= $A.B.a^{\frac{\alpha+q}{p(m+1)+\alpha-1}} \frac{\|v\|^{\frac{p(m+1)(\alpha+q)}{p(m+1)+\alpha-1}}}{(\frac{a(q+1-p(m+1))}{\alpha+q})\|v\|^{p(m+1)})^{\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}}} - \frac{a(p(m+1)+\alpha-1)}{(q+\alpha)}\|v\|^{p(m+1)} = 0,$ (3.6)

where A and B are defined in (3.3), which is a contradiction. Hence, $\mathcal{N}^0_{\lambda} = \{0\}$, for all $\lambda \in (0, T_{q,\alpha})$ as required. Now let us consider a sequence $(u_n) \subset \mathcal{N}^-_{\lambda}$ such that $(u_n) \to u$ in E. From the definition of the set \mathcal{N}^-_{λ} , we get

$$a(p(m+1) + \alpha - 1) \|u_n\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u_n(x)|^{1+q} \, \mathrm{d}x < 0 \tag{3.7}$$

and

$$a||u_n||^{p(m+1)} - \int_{\Omega} |u_n(x)|^{1-\alpha} \, \mathrm{d}x - \lambda \int_{\Omega} |u_n(x)|^{1+q} \, \mathrm{d}x = 0.$$

Consequently,

$$a(p(m+1) + \alpha - 1) ||u||^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x \le 0$$

and

$$a||u||^{p(m+1)} - \int_{\Omega} |u(x)|^{1-\alpha} \, \mathrm{d}x - \lambda \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x = 0.$$

Thus $u \in \mathcal{N}_{\lambda}^{-} \cup \mathcal{N}_{\lambda}^{0}$. If $u \in \mathcal{N}_{\lambda}^{0}$, then u = 0. By equation (3.7) we obtain

$$\|u\| \ge \left[\frac{p(m+1) + \alpha - 1}{\lambda(q+\alpha)}\right] > 0.$$

$$(3.8)$$

It's in contradiction with the fact that u = 0. Therefore $u \in \mathcal{N}_{\lambda}^{-}$, for all $\lambda \in (0, T_{q,\alpha})$ and the proof is completed.

Lemma 3.4. Given $u \in \mathcal{N}_{\lambda}^{-}$ (respectively $\mathcal{N}_{\lambda}^{+}$) with $u \geq 0$, for all $v \in E$ with $v \geq 0$, there exist $\varepsilon > 0$ and a continuous function h such that for all $\beta \in \mathbb{R}$ with $|\beta| < \varepsilon$ we have

$$h(0) = 1$$
 and $h(\beta)(u + \beta v) \in \mathcal{N}_{\lambda}^{-}$ (respectively $\mathcal{N}_{\lambda}^{+}$).

Proof. We introduce the function $\psi : \mathbb{R} \times \mathbb{R} \longrightarrow \mathbb{R}$ define by:

$$\psi(t,\beta) = at^{p(m+1)+\alpha-1} \|(u+\beta v)\|^{p(m+1)} \,\mathrm{d}x - \int_{\Omega} \left(|u+\beta v|^{1-\alpha} - \lambda t^{\alpha+q} |u+\beta v|^{1+q} \right) \mathrm{d}x.$$

Hence,

$$\psi_t(t,\beta) = a(p(m+1) + \alpha - 1)t^{p(m+1) + \alpha - 2} ||(u+\beta v)||^{p(m+1)} dx$$

$$-\lambda(\alpha+q)t^{\alpha+q-1}\int_{\Omega}|u+\beta v|^{1+q}\,\mathrm{d}x,$$

is continuous on $\mathbb{R} \times \mathbb{R}$. Since $u \in \mathcal{N}_{\lambda}^{-} \subset \mathcal{N}_{\lambda}$, we have $\psi(1,0) = 0$ and

$$\psi_t(1,0) = a(p(m+1) + \alpha - 1) \|u\|^{p(m+1)} \,\mathrm{d}x - \lambda(\alpha + q) \int_{\Omega} |u|^{1+q} \,\mathrm{d}x < 0.$$

Therefore, applying the implicit function theorem to the function ψ at the point (1,0) we obtain a $\delta > 0$ and a positive continuous function h satisfying

 $h(0) = 1, \ h(s)(u + \beta v) \in \mathcal{N}_{\lambda}, \ \forall \ \beta \in \mathbb{R}, \ |\beta| < \delta.$

Hence, taking $\varepsilon > 0$ possibly smaller enough, we get

$$h(\beta)(u+\beta v) \in \mathcal{N}_{\lambda}^{-}, \ \forall \beta \in \mathbb{R}, \ |\beta| < \varepsilon.$$

The case $u \in \mathcal{N}_{\lambda}^+$ may be obtained in the same way. This completes the proof of the Lemma 3.4.

4. Proof of the main result

For any $u \in \mathcal{N}_{\lambda}$, we have $J_{\lambda}(u) = J_{\lambda}(|u|)$, then we can assume without loose any generalities that all functions of the set \mathcal{N}_{λ} are non negative. Using Lemma 3.2 and 3.3, we can denote

$$m^{+} = \inf_{u \in \mathcal{N}_{\lambda}^{+}} J_{\lambda}(u) \text{ and } m^{-} = \inf_{u \in \mathcal{N}_{\lambda}^{-}} J_{\lambda}(u).$$

$$(4.1)$$

Proposition 4.1. Let $\lambda \in (0, T_{q,\alpha})$. Then, $m^+ = \inf_{u \in \mathcal{N}_{\lambda}^+} J_{\lambda}(u) < 0$.

Proof. Recall that for $u \in \mathcal{N}_{\lambda}^+$, we have

$$a(p(m+1) + \alpha - 1) \|u\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u(x)|^{1+q} \, \mathrm{d}x > 0.$$

Due to the fact that $0 < \alpha < 1$ and p(m+1) < q+1, we obtain

$$J_{\lambda}(u) = \frac{a}{p(m+1)} \|u\|^{p(m+1)} dx - \frac{q+\alpha}{(1-\alpha)(1+q)} \int_{\Omega} |u(x)|^{1-\alpha} dx$$

$$< a \frac{1+\alpha-p(m+1)}{p(m+1)(1-\alpha)} \|u\|^{p(m+1)} + a \frac{p(m+1)+\alpha-1}{(q+1)(1+\alpha)} \|u\|^{p(m+1)}$$

$$= a \Big(\frac{1+\alpha-p(m+1)}{(1-\alpha)}\Big) \Big(\frac{1}{q+1} - \frac{1}{p(m+1)}\Big) \|u\|^{p(m+1)} < 0.$$

Consequently,

$$m^+ = \inf_{u \in \mathcal{N}_{\lambda}^+} J_{\lambda}(u) < 0, \text{ for all } \lambda \in (0, T_{q, \alpha})$$

We divide two steps to complete the proof of Theorem 1.1.

First Step Applying Ekeland's variational principle to this minimization problem. There exists a sequence $(u_n) \subset \mathcal{N}^+_{\lambda}$ satisfying these properties:

i) $J_{\lambda}(u_n) < m^+ + \frac{1}{n}$. ii) $m^+ \ge J_{\lambda}(u_n) - \frac{1}{n} ||u - u_n||$, for all $u \in \mathcal{N}_{\lambda}^+$.

Due to the fact that $J_{\lambda}(u) = J_{\lambda}(|u|)$, we can assume that $u_n(x) \ge 0$. Using the coercivity of the functional J_{λ} on \mathcal{N}_{λ} , we deduce that $\{u_n\}$ is a bounded sequence in E. There exists a sub-sequence denoted again by $\{u_n\}$, there exists $u_0 \ge 0$ such that $u_n \rightharpoonup u_0$, weakly in $E, u_n \rightarrow u_0$, strongly in $L^q(\Omega)$, for $1 \leq q < p^*$, and $u_n(x) \to u_0(x)$, a.e. in Ω , as $n \to \infty$. Now, from (4.1) and using the weak lower semi-continuity of the norm, we get $J_{\lambda}(u_0) \leq \liminf J_{\lambda}(u_n) = \inf_{\mathcal{N}_{\lambda}^+} J_{\lambda}$, we see that $u_0 \not\equiv 0$ in Ω . Moreover, we have

Proposition 4.2. $u_0(x) > 0$, a.e. in Ω .

Proof. Applying Hölder's inequality, we obtain, as $n \to \infty$,

$$\begin{split} \int_{\Omega} u_n^{1-\alpha} \mathrm{d}x &\leq \int_{\Omega} u_0^{1-\alpha} \mathrm{d}x + \int_{\Omega} |u_n - u_0|^{1-\alpha} \mathrm{d}x \\ &\leq \int_{\Omega} u_0^{1-\alpha} \mathrm{d}x + C \parallel u_n - u_0 \parallel_{L^2(\Omega)}^{1-\alpha} \\ &= \int_{\Omega} u_0^{1-\alpha} \mathrm{d}x + o(1). \end{split}$$

In addition,

$$\int_{\Omega} u_0^{1-\alpha} \mathrm{d}x \le \int_{\Omega} u_n^{1-\alpha} \mathrm{d}x + \int_{\Omega} |u_n - u_0|^{1-\alpha} \mathrm{d}x$$
$$\le \int_{\Omega} u_0^{1-\alpha} \mathrm{d}x + C ||u_n - u_0||_{L^2(\Omega)}^{1-\alpha}$$
$$= \int_{\Omega} u_n^{1-\alpha} \mathrm{d}x + o(1).$$

Consequently,

$$\int_{\Omega} u_n^{1-\alpha} \mathrm{d}x = \int_{\Omega} u_0^{1-\alpha} \mathrm{d}x + o(1).$$
(4.2)

Similarly, we have

$$\int_{\Omega} u_n^{1+q} dx = \int_{\Omega} u_0^{1+q} dx + o(1).$$
(4.3)

Due to (4.2), (4.3) and the weakly lower semi continuity of the norm, we get

$$J_{\lambda}(u_{0}) = \frac{a}{p(m+1)} \|u_{0}\|^{p(m+1)} - \frac{1}{1-\alpha} \int_{\Omega} |u_{0}(x)|^{1-\alpha} dx - \frac{\lambda}{1+q} \int_{\Omega} |u_{0}(x)|^{q+1} dx$$

$$\leq \liminf_{n \to \infty} \left[\frac{a}{p(m+1)} \|u_{n}\|^{p(m+1)} - \frac{1}{1-\alpha} \int_{\Omega} |u_{n}(x)|^{1-\alpha} dx - \frac{\lambda}{1+q} \int_{\Omega} |u_{n}(x)|^{q+1} dx \right]$$

$$= \liminf_{n \to \infty} J_{\lambda}(u_{n}) < 0.$$

Hence, $u_0 \neq 0$ on Ω . In the sequel we prove that $u_0 > 0$. Since $u_n \in \mathcal{N}^+_{\lambda}$, we get

$$a(p(m+1) + \alpha - 1) \|u_n\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u_n(x)|^{1+q} \, \mathrm{d}x > 0.$$
(4.4)

Thus we can claim that up to a subsequence u_n (still denoted by u_n), there exists a constant $c_1 > 0$ such that

$$a(p(m+1) + \alpha - 1) \|u_n\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u_n(x)|^{1+q} \, \mathrm{d}x \ge c_1.$$
(4.5)

That is

$$(p(m+1)+\alpha-1)\int_{\Omega}|u_n(x)|^{1-\alpha}\,\mathrm{d}x-\lambda(q+1-p(m+1))\int_{\Omega}|u_n(x)|^{1+q}\,\mathrm{d}x\ge 0.\ (4.6)$$

Passing to the limit as $n \to \infty$, we obtain

$$(p(m+1)+\alpha-1)\int_{\Omega}|u_0(x)|^{1-\alpha}\,\mathrm{d}x-\lambda(q+1-p(m+1))\int_{\Omega}|u_0(x)|^{1+q}\,\mathrm{d}x\ge 0.$$
 (4.7)

Next, we argue by contradiction that

$$(p(m+1)+\alpha-1)\int_{\Omega}|u_0(x)|^{1-\alpha}\,\mathrm{d}x - \lambda(q+1-p(m+1))\int_{\Omega}|u_0(x)|^{1+q}\,\mathrm{d}x > 0. \tag{4.8}$$

To prove that assume

$$(p(m+1)+\alpha-1)\int_{\Omega}|u_0(x)|^{1-\alpha}\,\mathrm{d}x - \lambda(q+1-p(m+1))\int_{\Omega}|u_0(x)|^{1+q}\,\mathrm{d}x = 0.$$
(4.9)

Since,

$$a||u_n||^{p(m+1)} - \lambda \int_{\Omega} |u_n(x)|^{1+q} \, \mathrm{d}x - \int_{\Omega} |u_n(x)|^{1-\alpha} \, \mathrm{d}x = 0$$
(4.10)

and using the weakly semi-continuity of the norm, we get

$$0 \ge a \|u_0\|^{p(m+1)} - \lambda \int_{\Omega} |u_0(x)|^{1+q} \, \mathrm{d}x - \int_{\Omega} |u_0(x)|^{1-\alpha} \, \mathrm{d}x$$

= $a \|u_0\|^{p(m+1)} - \frac{q+\alpha}{q+1-p(m+1)} \int_{\Omega} |u_0(x)|^{1-\alpha} \, \mathrm{d}x$
= $a \|u_0\|^{p(m+1)} - \lambda \frac{q+\alpha}{p(m+1)+\alpha-1} \int_{\Omega} |u_n(x)|^{1+q} \, \mathrm{d}x.$

In view of (3.3) and (3.6)

$$0 < A.B.a^{\frac{\alpha+q}{p(m+1)+\alpha-1}} \left(\int_{\Omega} |u_0(x)|^{1-\alpha} dx \right)^{\frac{q+1-p(m+1)}{p(m+1)+\alpha-1}} - \lambda \int_{\Omega} |u_0(x)|^{1+q} dx$$
$$= AB.a^{\frac{\alpha+q}{p(m+1)+\alpha-1}} \frac{\|u_0\|^{\frac{p(m+1)(\alpha+q)}{p(m+1)+\alpha-1}}}{\left(\frac{a(q+1-p(m+1))}{\alpha+q}\right)\|u_0\|^{p(m+1)}} \frac{q+1-p(m+1)}{p(m+1)+\alpha-1}}{\left(\frac{a(p(m+1)+\alpha-1)}{(q+\alpha)}\right)\|u_0\|^{p(m+1)}} = 0,$$

which is a contradiction. Therefore, our claim holds true.

Now, let us consider the function $\psi \in E$, with $\psi \geq 0$. From Lemma 3.4 with $u = u_n$, there exits a sequence of continuous functions $h_n = h_n(t)$ such that $h_n(t)(u_n + t\psi) \in \mathcal{N}^+_{\lambda}$ and $h_n(0) = 1$. Hence,

$$ah_n^{p(m+1)}(t)\|u_n + t\psi\|^{p(m+1)} - \lambda h_n^{q+1}(t) \int_{\Omega} |u_n(x) + t\psi|^{1+q} \,\mathrm{d}x$$

$$-h_n^{1-\alpha}(t)\int_{\Omega}|u_n(x)+t\psi|^{1-\alpha}\,\mathrm{d}x=0.$$

Due to (4.10), we obtain

$$\begin{split} 0 =& a(h_n^{p(m+1)}(t)-1) \|u_n + t\psi\|^{p(m+1)} + a(\|u_n + t\psi\|^{p(m+1)} - \|u_n\|^{p(m+1)}) \\ &- \lambda(h_n^{q+1}(t)-1) \int_{\Omega} |u_n(x) + t\psi|^{1+q} \, \mathrm{d}x - (h_n^{1-\alpha}(t)-1) \int_{\Omega} |u_n(x) + t\psi|^{1-\alpha} \, \mathrm{d}x \\ &- \int_{\Omega} (|u_n(x) + t\psi|^{1-\alpha} - |u_n(x)|^{1-\alpha}) \, \mathrm{d}x - \lambda \int_{\Omega} (|u_n(x) + t\psi|^{1+q} - |u_n(x)|^{1+q}) \, \mathrm{d}x \\ &\leq a(h_n^{p(m+1)}(t)-1) \|u_n + t\psi\|^{p(m+1)} + a(\|u_n + t\psi\|^{p(m+1)} - \|u_n\|^{p(m+1)}) \\ &- \lambda(h_n^{q+1}(t)-1) \int_{\Omega} (|u_n(x) + t\psi|^{1+q} - |u_n(x)|^{1+q}) \, \mathrm{d}x \\ &- (h_n^{1-\alpha}(t)-1) \int_{\Omega} (u_n(x) + t\psi)^{1-\alpha}. \end{split}$$

Dividing the above quantity by t > 0 and passing to the limit as $t \to 0$, we get

$$\begin{split} 0 \leq & h'_n(0) \Big[ap(m+1) \|u_n\|^{p(m+1)} - (1-\alpha) \int_{\Omega} (u_n(x))^{1-\alpha} dx - \lambda (1+q) \int_{\Omega} |u_n(x)|^{1+q} dx \Big] \\ &+ p(m+1) \int_{\mathbb{R}^{2n}} \frac{|u_n(x) - u_n(y)|^{p-2} ((u_n(x) - u_n(y))(\psi(x) - \psi(y)))}{|x - y|^{n+sp}} dx dy. \\ = & h'_n(0) \Big[a(p(m+1) - q - 1) \|u_n\|^{p(m+1)} + (q + \alpha) \int_{\Omega} (u_n(x))^{1-\alpha} dx \Big] \\ &+ p(m+1) \int_{\mathbb{R}^{2n}} \frac{|u_n(x) - u_n(y)|^{p-2} ((u_n(x) - u_n(y))(\psi(x) - \psi(y)))}{|x - y|^{n+sp}} dx dy, \end{split}$$

where $h'_n(0) \in [-\infty, \infty]$ denotes the right derivative of $h_n(t)$ at zero and since $u_n \in \mathcal{N}^+$, $h'_n(0) \neq -\infty$. To simplify, we suppose that the right derivative of h_n at t = 0 exists. Moreover, from (4.9) $h'_n(0)$ is uniformly bounded from below. Now, using the condition (ii), we get

$$\begin{split} &|h_n(t) - 1|\frac{1}{n}||u_n|| + th_n(t)\frac{\|\psi\|}{n} \ge J_\lambda(u_n) - J_\lambda\left(h_n(t)(u_n + t\psi)\right) \\ &= -a\frac{p(m+1) + \alpha - 1}{p(m+1)(1-\alpha)}\|u_n\|^{p(m+1)} + \lambda\frac{q+\alpha}{(1-\alpha)(q+1)}\int_{\Omega}|u_n(x)|^{1+q}\,\mathrm{d}x \\ &+ a\frac{p(m+1) + \alpha - 1}{p(m+1)(1-\alpha)}h_n^{p(m+1)}(t)\|u_n + t\psi\|^{p(m+1)} \\ &- \frac{\lambda(q+\alpha)}{(1-\alpha)(q+1)}h_n^{q+1}(t)\int_{\Omega}|u_n(x) + t\psi|^{1+q}\,\mathrm{d}x \\ &= a\frac{p(m+1) + \alpha - 1}{p(m+1)(1-\alpha)}\Big[\|u_n + t\psi\|^{p(m+1)} - \|u_n\|^{p(m+1)} + (h_n^{p(m+1)}(t) - 1)\|u_n + t\psi\|^{p(m+1)}\Big] \\ &- \lambda\frac{q+\alpha}{(1-\alpha)(q+1)}\Big[\int_{\Omega}(|u_n(x) + t\psi|^{1+q} - |u_n(x)|^{1+q}) + (h_n^{q+1}(t) - 1)\int_{\Omega}|u_n(x) + t\psi|^{1+q}\Big]. \end{split}$$

If we divide the last inequality by t > 0 and we pass to limit as $t \to 0$, we get

$$\frac{|h'_n(0)| \|u_n(x)\| + \|\psi\|}{n}$$

$$\geq \frac{h'_n(0)}{1-\alpha} \Big[\frac{q+\alpha}{(q+1)} \int_{\Omega} (u_n(x))^{1-\alpha} dx - a \frac{p(m+1)+\alpha-1}{(1-\alpha)} \|u_n\|^{p(m+1)} \Big] \\ + ap \frac{p(m+1)+\alpha-1}{(1-\alpha)} \int_{\mathbb{R}^{2n}} \frac{|u_n(x)-u_n(y)|^{p-2}((u_n(x)-u_n(y))(\psi(x)-\psi(y)))}{|x-y|^{n+sp}} dxdy \\ - \lambda \frac{q+\alpha}{(1-\alpha)(q+1)} \int_{\Omega} |u_n(x)|^{1+q} dx.$$

Due to (4.9), there exists a positive constant C > 0 such that

$$\frac{(q+1-p(m+1))}{\alpha-1}|u_n(x)|^{p(m+1)} - \frac{(\alpha+q)}{\alpha-1}\int_{\Omega}(u_n(x))^{1-\alpha}dx - \frac{\|u_n(x)\|}{n} \ge C > 0.$$
(4.11)

Combining (4.9) and (4.11), $h'_n(0)$ is uniformly bounded from above. Consequently,

 $h'_n(0)$ is uniformly bounded for *n* large enough. (4.12)

Hence condition (ii) implies that for t > 0 small enough,

$$J_{\lambda}(u_n) \le J_{\lambda}(h_n(t)(u_n + t\psi)) + \frac{1}{n} \|h_n(t)(u_n + t\psi) - u_n\|.$$
(4.13)

Therefore,

$$\begin{split} &\frac{1}{n} \left(|h_n(t) - 1| \|u_n\| + th_n(t) \|\psi\| \right) \\ \geq &\frac{1}{n} \left\| h_n(t)(u_n + t\psi) - u_n \| \geq J_\lambda(u_n) - J_\lambda\left(h_n(t)(u_n + t\psi)\right) \\ &= -\frac{a(h_n^{p(m+1)}(t) - 1)}{p(m+1)} \|u_n\|^{p(m+1)} + \frac{h_n^{1-\alpha}(t) - 1}{1 - \alpha} \int_\Omega u_n^{1-\alpha} dx \\ &+ \frac{h_n^{1-\alpha}(t)}{1 - \alpha} \int_\Omega \left((u_n + t\psi)^{1-\alpha} - u_n^{1-\alpha} \right) dx \\ &+ \frac{h_n^{p(m+1)}(t)}{p(m+1)} \left(\int_\Omega (\|u_n\|^{p(m+1)} - \|u_n + t\psi\|^{p(m+1)}) dx \right) \\ &+ \frac{\lambda}{1+q} h_n^{1+q}(t) \int_\Omega (u_n + t\psi)^{1+q} - u_n^{1+q} dx + \frac{\lambda}{1+q} (h_n^{1+q}(t) - 1) \int_\Omega u_n^{1+q} dx. \end{split}$$

Passing to the limit $t \to 0$ after dividing by t > 0, we get

$$\begin{split} &\frac{1}{n} \left(|h_n'(0)| \|u_n\| + \|\psi\| \right) \\ \geq &- ah_n'(0) \left[\|u_n\|^{p(m+1)} + \int_{\Omega} u_n^{1-\alpha} dx + \lambda \int_{\Omega} u_n^{1+q} dx \right] \\ &+ \lambda \int_{\Omega} u_n^q \psi dx - a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_n(x) - u_n(y)|^{p-2} ((u_n(x) - u_n(y))(\psi(x) - \psi(y)))}{|x - y|^{n+sp}} dx dy \\ &+ \liminf_{t \to 0^+} \frac{1}{1 - \alpha} \int_{\Omega} \left(\frac{(u_n + t\psi)^{1-\alpha} - u_n^{1-\alpha}}{t} dx \right) \end{split}$$

and so

$$\frac{1}{n}\left(|h_n'(0)|\|u_n\|+\|\psi\|\right)$$

$$\geq \lambda \int_{\Omega} u_n^q \psi dx - a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_n(x) - u_n(y)|^{p-2} ((u_n(x) - u_n(y))(\psi(x) - \psi(y)))}{|x - y|^{n+sp}} dx dy \\ + \liminf_{t \to 0^+} \frac{1}{1 - \alpha} \int_{\Omega} \left(\frac{(u_n + t\psi)^{1-\alpha} - u_n^{1-\alpha}}{t} \, \mathrm{d}x \right).$$

$$(4.14)$$

Consequently,

$$\begin{split} & \liminf_{t \to 0^+} \frac{1}{1 - \alpha} \int_{\Omega} \left(\frac{(u_n + t\psi)^{1 - \alpha} - u_n^{1 - \alpha}}{t} \, \mathrm{d}x \right) \\ \leq & \frac{1}{n} \left(|h'_n(0)| \|u_n\| + \|\psi\| \right) - \lambda \int_{\Omega} u_n^q \psi dx \\ & + a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_n(x) - u_n(y)|^{p - 2} ((u_n(x) - u_n(y))(\psi(x) - \psi(y)))}{|x - y|^{n + sp}} dx dy. \end{split}$$

$$(4.15)$$

Using the fact that

$$[(u_n + t\psi)^{1-\alpha} - u_n^{1-\alpha}] \ge 0, \quad \forall x \in \Omega, \ \forall t > 0$$

and applying Fatou's Lemma we get

$$\int_{\Omega} u_n^{-\alpha} \psi \, \mathrm{d}x \le \liminf_{t \to 0^+} \frac{1}{1-\alpha} \int_{\Omega} \left(\frac{(u_n + t\psi)^{1-\alpha} - u_n^{1-\alpha}}{t} \right) \, \mathrm{d}x.$$

In view of (4.15), we obtain

$$\int_{\Omega} u_n^{-\alpha} \psi \, \mathrm{d}x \le a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_n(x) - u_n(y)|^{p-2} ((u_n(x) - u_n(y))(\psi(x) - \psi(y)))}{|x - y|^{n+sp}} dx dy - \lambda \int_{\Omega} u_n^q \psi dx + h_n'(0) \frac{\|u_n\| + \|\psi\|}{n}, \text{ for } n \text{ large.}$$
(4.16)

Using (4.12) and applying Fatou's Lemma again, to conclude that $u_0(x) > 0$ a.e. in Ω . In addition

$$a \|u_0\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))(\psi(x) - \psi(y)))}{|x - y|^{n+sp}} dx dy$$

$$\geq \int_{\Omega} u_0^{-\alpha} \psi \, dx + \lambda \int_{\Omega} u_0^q \psi dx, \qquad (4.17)$$

for all $\psi \in E$, with $\psi \geq 0$. Now, we prove that $u_0 \in \mathcal{N}^+_{\lambda}$ for all $\lambda \in (0, T_{q,\alpha})$. Then, choosing $\psi = u_0$ in (4.16), we obtain

$$a \|u_0\|^{p(m+1)} \ge \int_{\Omega} u_0^{1-\alpha} \, \mathrm{d}x + \lambda \int_{\Omega} u_0^{1+q} \, \mathrm{d}x.$$

On the other hand, from (4.10) we get

$$a \|u_0\|^{p(m+1)} \le \int_{\Omega} u_0^{-\alpha} \psi \, \mathrm{d}x + \lambda \int_{\Omega} u_0^q \psi \, \mathrm{d}x.$$

Hence, for $\psi = u_0$ we obtain

$$a \|u_0\|^{p(m+1)} = \int_{\Omega} u_0^{1-\alpha} \, \mathrm{d}x + \lambda \int_{\Omega} u_0^{1+q} dx.$$
(4.18)

Therefore, $u_0^+ \in \mathcal{N}_\lambda^+$ as required. In addition, we have

$$a \lim_{n \to \infty} \|u_n\|^{p(m+1)} = \int_{\Omega} (u_0^+)^{1-\alpha} \, \mathrm{d}x + \lambda \int_{\Omega} (u_0^+)^{1+q} \, dx.$$

Due to (4.10) and (4.18), we get by the limit as $n \to \infty$

$$a(p(m+1) + \alpha - 1) \|u_0\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |u_0(x)|^{1+q} \, \mathrm{d}x > 0.$$

It's the required inequality, proving that $u_0 \in \mathcal{N}_{\lambda}^+$.

Second step. u_0 is a solution of problem (P_{λ}) . Our proof is inspired by SUN and Sw [31]. Let $\phi \in E$ and $\epsilon > 0$. We define $\psi \in E$ by $\psi := (u_0 + \epsilon \phi)^+$, where $(u_0 + \epsilon \phi)^+ = \max\{u_0 + \epsilon \phi, 0\}$. It follows by using equation (4.17)

$$\begin{split} 0 &\leq a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))(\psi(x) - \psi(y)))}{|x - y|^{n + sp}} \\ &- \int_{\Omega} u_0^{-\alpha} \psi \, \mathrm{d}x - \lambda \int_{\Omega} u_0^q \psi \, \mathrm{d}x \\ &= a \|u_n\|^{pm} \int_K \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))((u_0 + \epsilon\phi)(x) - (u_0 + \epsilon\phi)(y)))}{|x - y|^{n + sp}} \\ &- \int_{\Omega} u_0^{-\alpha} (u_0 + \epsilon\phi) \, \mathrm{d}x - \lambda \int_{\Omega} u_0^q (u_0 + \epsilon\phi) \, \mathrm{d}x, \end{split}$$

where $K = \{(x, y), u_0 + \epsilon \phi > 0\};$

$$\begin{split} &= a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))((u_0 + \epsilon\phi)(x) - (u_0 + \epsilon\phi)(y)))}{|x - y|^{n + sp}} \\ &- \int_{\Omega} u_0^{-\alpha} (u_0 + \epsilon\phi) \, \mathrm{d}x - \lambda \int_{\Omega} u_0^q (u_0 + \epsilon\phi) \, \mathrm{d}x \\ &= a \|u_n\|^{p(m+1)} - \int_{\Omega} u_0^{1-\alpha} \, \mathrm{d}x - \lambda \int_{\Omega} u_0^{q+1} \, \mathrm{d}x - \int_{\Omega} (u_0^{-\alpha}\phi + \lambda u_0^q \phi) \, \mathrm{d}x \\ &+ \epsilon a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))(\phi(x) - \phi(y)))}{|x - y|^{n + sp}} \, \mathrm{d}x \, \mathrm{d}y \\ &- a \|u_n\|^{pm} \int_{H} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))((u_0 + \epsilon\phi)(x) - (u_0 + \epsilon\phi)(y)))}{|x - y|^{n + sp}} \, \mathrm{d}x \, \mathrm{d}y \\ &- \int_{\{(x, y), u_0 + \epsilon\phi \leq 0\}} u_0^{-\alpha} (u_0 + \epsilon\phi) + \lambda u_0^q (u_0 + \epsilon\phi)) \, \mathrm{d}x, \end{split}$$

where $H = \{(x, y), u_0 + \epsilon \phi \le 0\};$

$$\begin{split} &= \epsilon a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))(\phi(x) - \phi(y)))}{|x - y|^{n+sp}} dx dy \\ &- \epsilon \int_{\Omega} (u_0^{-\alpha} \phi + \lambda u_0^q \phi) dx \\ &- a \|u_n\|^{pm} \int_{H} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))((u_0 + \epsilon \phi)(x) - (u_0 + \epsilon \phi)(y)))}{|x - y|^{n+sp}} dx dy \end{split}$$

$$-\epsilon \int_{\{x,u_0+\epsilon\phi\leq 0\}} u_0^{-\alpha}(u_0+\epsilon\phi) \,\mathrm{d}x - \lambda \int_{\Omega} u_0^q(u_0+\epsilon\phi) dx.$$

On the other hand, the measure of the set $\{x : u_0 + \epsilon \phi < 0\}$ tends to zero as $\epsilon \to 0^+$. Then if $\epsilon \to 0^+$, we get

$$\int_{H} \frac{|u_0(x) - u_0(y)|^{p-2}((u_0(x) - u_0(y))((u_0 + \epsilon \phi)(x) - (u_0 + \epsilon \phi)(y)))}{|x - y|^{n + sp}} dx dy \to 0.$$

Passing to the limit as $\epsilon \to 0^+$ after dividing by $\epsilon > 0$, we obtain

$$\begin{split} a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|u_0(x) - u_0(y)|^{p-2} ((u_0(x) - u_0(y))(\phi(x) - \phi(y)))}{|x - y|^{n+sp}} \\ - \int_{\Omega} u_0^{-\alpha} \phi \, \mathrm{d}x - \lambda \int_{\Omega} u_0^q \phi \, dx \ge 0. \end{split}$$

Note that the equality holds true if we replace ϕ by $-\phi$ implying that u_0 is a positive solution of problem (P_{λ}).

Step 2: In this step, we show that problem (P_{λ}) possesses a positive solution in $\mathcal{N}_{\lambda}^{-}$. The needed tool is similar to the first step. Precisely, we apply Ekeland's variational principle to the minimization problem $m^{-} = \inf_{w \in \mathcal{N}_{\lambda}^{-}} J_{\lambda}(w)$ there exists a

sequence $\{w_n\} \subset \mathcal{N}_{\lambda}^-$ satisfying

i)
$$J_{\lambda}(w_n) < m^+ + \frac{1}{n}$$
,

ii) $J_{\lambda}(w) \ge J_{\lambda}(w_n) - \frac{1}{n} ||w - w_n||$, for all $w \in \mathcal{N}_{\lambda}^-$.

Since $J_{\lambda}(w) = J_{\lambda}(|w|)$, we may assume that $w_n(x) \geq 0$. Consequently, as J_{λ} is coercive on \mathcal{N}_{λ} , $\{w_n\}$ is a bounded sequence in E, going to a sub-sequence denoted by $\{w_n\}$, and $w_0 \geq 0$ such that $w_n \to w_0$, weakly in E, $w_n \to w_0$, strongly in $L^{1-\alpha}(\Omega)$, and $L^p(\Omega)$, for $1 \leq p < p^*$, and $w_n(x) \to w_0(x)$, a.e. in Ω , as $n \to \infty$. Now, from (4.1) and using the weak lower semi-continuity of norm $J_{\lambda}(w_0) \leq$ $\liminf_{\mathcal{N}} J_{\lambda}(w_n) = \inf_{\mathcal{N}} J_{\lambda}$, we see that $w_0 \not\equiv 0$ in Ω . Now, we prove that $w_0(x) > 0$ a.e. in Ω . Similarly to the arguments in Claim 1, we start by observing that, since $w_n \in \mathcal{N}_{\lambda}^-$, one has

$$a(p(m+1) + \alpha - 1) \|w_n\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |w_n(x)|^{1+q} \, \mathrm{d}x < 0.$$

Analogous Calculation gives us

$$a(p(m+1) + \alpha - 1) \|w_0\|^{p(m+1)} - \lambda(q+\alpha) \int_{\Omega} |w_0(x)|^{1+q} \, \mathrm{d}x < 0.$$

After that we consider the function $\psi \in E$, with $\psi \geq 0$ and using Lemma 3.4 with $w = w_n$, there exits a sequence of continuous functions $h_n = h_n(t)$ such that $h_n(t)(w_n + t\psi) \in \mathcal{N}^+_{\lambda}$ and $h_n(0) = 1$. Repeating the same argument as in the claim 1, we obtain first that h'(0) is uniformly bounded for n large enough and we get

$$\begin{split} 0 \leq & a \|u_n\|^{pm} \int_{\mathbb{R}^{2n}} \frac{|w_0(x) - w_0(y)|^{p-2} ((w_0(x) - w_0(y))(\phi(x) - \phi(y)))}{|x - y|^{n+sp}} \\ & - \int_{\Omega} w_0^{-\alpha} \phi \mathrm{d}x - \lambda \int_{\Omega} w_0^q \phi dx, \end{split}$$

for all function $\phi \in E$. The last step is similar to the second step, in which we prove that $w_0 \in \mathcal{N}_{\lambda}^-$ is also a positive solution to the problem (P_{λ}). Therefore, we obtain at least two positive weak solutions as required.

Acknowledgements. The author would like to thank the anonymous referees for carefully reading this paper and providing useful comments.

References

- K. B. Ali, M. Hsini, K. Kefi, N. T. Chung, On a nonlocal fractional p(.,.)laplacian problem with competing nonlinearities, Complex Analysis and Operator Theory., 2019, DOI: 10.1007/s11785/018-00885-9.
- [2] S. N. Antontsev, J. F. Rodrigues, On stationary thermorheological viscous inćows, Ann. Univ. Ferrara Sez. VII Sci. Mat., 2006, 52(19), âĂS36.
- [3] G. Autuori, P. Pucci., Kirchhoff systems with nonlinear source and boundary damping terms, Comm. Pure Appl. Anal., 2010, (9), 1161–1188.
- [4] B. Barrios, E. Colorado, A. De Pablo, U. Sanchez, On some critical problems for the fractional Laplacian operator, J. Diff. Eqs., 2012, (252), 6133–6162.
- [5] K. Ben Ali, A. Ghanmi, K. Kefi, Minimax method involving singular p(x)-Kirchhoff equation, Journal of Math. Physics., 2017, 11(58), 111505.
- [6] H. Berestycki, H. Brezis, On a free boundary problem arising in plasma physics, Nonlinear Anal., 1980, (43), 415–436.
- [7] L. Caffarelli, L. Silvestre, An extension problem related to the fractional Laplacian, Comm. Partial Differential Equations., 2007, (32), 1245–1260.
- [8] H. Chen, H. Hajaiej, Y. Wang, On a class of semilinear fractional elliptic equations involving outside Dirac data, Nonlinear Anal., 2015, (125), 639–658.
- [9] Y. Chen, S. Levine, R. Ran, Variable exponet linear growth functionals in image restoration, SIAMJ. Appl., 2006, (66), 1383–1406.
- [10] C. Y. Chen, Y. C. Kuo, T. F. Wu, The Nahari manifold for a Kirchhoff type problem involving sign-changing weight functions, J. Diff. Eqs., 2011, (250), 1876–1908.
- [11] M. M. Coclite, G. Palmieri, On a singular nonlinear Dirichlet problem, Comm. Partial Differential Equations., 1989, 14(10), 1315–1327.
- [12] M. G. Crandall, P. H. Rabinowitz, L. Tartar, On a Dirichlet problem with a singular nonlinearity, Comm. Partial Differential Equations., 1977, (2), 193– 222.
- [13] R. Cont, P. Tankov, *Financial Modelling with Jump Processes*, Chapman and Hall/CRC Financ. Math. Ser., Chapman and Hall/CRC, Boca Raton, Fl, 2004.
- [14] P. Drabek, S. I. Pohozaev, Positive solutions for the p-Laplacian: application of the fibering method, Proc. Royal Soc. Edinburgh Sect A., 1997, (127), 703–726.
- [15] G. Fragnelli, Positive periodic solutions for a system of anisotropic parabolic equations, Math. Anal. Appl., 2010, (73), 110–121.
- [16] A. Ghanmi, Nontrivial solutions for Kirchoff-type problems involving p(x)-Laplace Operator, To appear in Rocky Mountain Journal of Mathematics, 1501984835.

- [17] A. Ghanmi, K. Saoudi, The Nehari manifold for singular elliptic equation involving the fractional Laplace operator, Fractional Differential Calculus., 2016, 6(2), 201–217.
- [18] K. Kefi, V. D. Rădulescu, Small perturbations of nonlocal biharmonic problems with variable exponent and competing nonlinearities, Matematiche e Naturali, Rendiconti Lincei Matematica E Applicazioni.
- [19] G. Kirchhoff, [Mechanik], Teubner, Leipzig, 1883.
- [20] Q. Li, Z. Yang, Z. Feng, Multiple solutions of a p-Kirchhoff with singular and critical nonlinearities, EJDE., 2017, 84, 1–14.
- [21] J. Liao, P. Zhang, Existence and non existence of solutions of a singular semilinear elliptic problem, J. Math., (Wuhan), 2011, 31, 777–784.
- [22] J. L. Lion, On some questions in boundary value problems of mathematical physics, Proceedings of international symposiumnon continum Mechanics and Partial Differential Equations, Rio de Janeiro 1977, dela Penha, Medeiros (Eds), Math. Stud. North Holland., 1978, (30), 284–346.
- [23] D. Liu, On a p-Kirchhoff equation via fountain theorem and dual fountain theorem, Nonlinear Anal., 2010, 72, 302–308.
- [24] G. Molica Bisci, V. Rădulescu, R. Servadei, Variational Methods for nonlocal fractional problems, Encyclopedia of Mathematics and its Applications., Cambridge University Press, Cambridge, 20016.
- [25] S. Mosconi, K. Perera, M. Squassina, Y. Yang, A Brezis-Nirenberg result for the fractional p-Laplacian, arXivL1508.00700v1.
- [26] T. Mukherjee, K. Sreenadh, Critical growth fractional elliptic problem with singular nonlinearities, EJDE., 2016, 54, 1–23.
- [27] T. Mukherjee, K. Sreenadh, On Dirichlet problem for fractional p-Laplacian with singular nonlinearity, arXiv: 1602.00872v2[Math.Ap].
- [28] M. Ruzicka, Electrorheological fluids: Modeling and Mathematical Theory, Springer-VerlaG, Berlin, 2002.
- [29] J. Simon, Régularité de la solution d'une équation linéaire dans R^N, in journées d'Analyse Non linéaires. Proc. Conf. Besanob, Lecture Note in Math., 1977, Springer, Berlin, 1978, 665, 205–227.
- [30] J. J. Sun, C. L. Tang, Existence and multiplicity of solutions for Kirchhoff type equations. Nonlinar Anal., 2011, 74, 543–549.
- [31] Y. J. Sun, S. P. Wu, An exact estimate result for a class of singular equations with critical exponents, Nonlinear Anal., 2003, 55, 399–417. J. Funct. Anal., 2011, (260), 1257–1284.
- [32] J. Tan, The Brézis-Nirenberg type problem involving the square root of the Laplacian, Calc. Var. Partial Differential Equations., 2011, 36, 21–41.
- [33] S. Yijing, W. Shaoping, L. Yiming, Combined effects of singular and superlinear nonlinearities in some singular boundary value problems, J. Diff. Eqs., 2001, 176, 511–531.
- [34] V. V. Zhikov, Averaging of functionals of the calculus of variations and elasticity theory, Izv. Akad. Nauk SSSR Ser. Math., 1986, (50), 6754–710.